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nt main()

int t,first_num,second_num;

cin >>t;

for (inti=0;i<t;i++)

{

cin >> first_num;

cin >>second_num;

int result= first_num + second_num;

cout << result<<"\n";

return O;
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C:\Users\Mamali—PC\Desktop\jam\jam\Debug>jam.exe<{pl.in>pl.out
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#include <iostream>

using namespace std;

#define max_size 100
int main()
{
int matrix[max_size][max_size],t;
cin >>t;
for (int t_counter = 0; t_counter < t; t_counter++)
{
int rows, cols,sum_result=0;

cin >> rows; cin >> cols; //Read Test Case Rows && Cols Count



//Read Matrix

for (int row_counter = 0; row_counter < rows; row_counter++)

{

for (int col_counter = 0; col_counter < cols; col_counter++)

{
cin >> matrix[row_counter][col_counter];
}
}
//Sum Cells:

//Sum top Row:

for (int col_counter = 0; col_counter < cols; col_counter++)

{

sum_result += matrix[0][col_counter];

}

//Sum left col:

for (int row_counter = 1; row_counter < rows; row_counter++)

{

sum_result += matrix[row_counter][0];

//Sum right col:

for (int row_counter = 1; row_counter < rows; row_counter++)

{

sum_result += matrix[row_counter][cols-1];

//Sum bottom Row



for (int col_counter = 1; col_counter < cols-1; col_counter++)

{

sum_result += matrix[rows - 1][col_counter];

cout << sum_result << "\n"; //Write result in output

}

return 0;
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